Al A

2025 20A LBHE|H| XS LA
SA: XASED
Ha: HASHAH|(XALH)
Sl =3 (ESRSE))
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
NEEFSI 35,943,637 29,586,925 6,356,712
= 11,800
2 11,173,000
[ 2,121,320
= 22,637,517
HH2HZH| (XL A D) 39,600 34,700 4,900
J1E23H] 39,600 34,700 4,900
J1=23H] 39,600 34,700 4,900
201 LB 21,900 20,300 1,600
01 AFRZH2lH] 17,900 17,300 600
Otz 12,500
0DI2ARES 7 100, 0002*209! 2,000
OAIRI1DI & SAESE 9,000,000 9,000
0J|Et==&H| 1,500,000 1,500
OSAH(XALE D ADREX)
9,0002/%2021%304! 5,400
02 2229 4,000 3,000 1,000
oRERZ S 4,000,000 4,000
202 01t 10,800 10,800
01 =LH0IHI 10,800 10,800
OZAA0HI(ZEZHI)
180,000 +5SH S+ 128 10,800
203 AR=ZIH| 6,900 3,600 3,300
01 [ 22HARET] 3,300 0 3,300
OJ | Z2Y AR ETIH| 3,300,000 3,300
M4 ENSIAREAIH| 3,600 3,600 0
ORMNILRFEI 300,000 %12 3,600
CAIHE 2 267,700 692,300 N424,600
CAHE 2 267,700 692,300 N424,600
CAHEER2Y 39,700 39,300 400
201 LB 21,100 20,700 400
01 Al22t2IH] 21,100 20,700 400
ORHERIRG| EAlC
100,0002%2101%53] 10,500
O(ZALAE)BSANS| A4y
100,000 % 150123 3,000
oNezZIE 2,000,0002*23] 4,000
OSA(ZAIHE LR A
9,000 *5Q1%80A! 3,600
202 01t 15,600 15,600
01 =LH0IHI 15,600 15,600
OZAIHEI R 454
200,0002%501% 122 12,000
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SN

AlSers

Mz CAHEZE
ool SAIHE 22 (CH: &2
S - ZE - SI(E) - KISA - BES Ofl st e limE==]
Oz 2eHE 2HAR F0HI(ED2 &
=) 100,0002%301x 122 3,600
203 2| 3,000 3,000
CEENEEES 3,000 3,000
OXALED AIHAREZI
3,000,0002! 3,000
el HE (HEH) 175,000 600,000 425,000
401 NEHZ20] 175,000 600,000 425,000
01 Al&H] 175,000 600,000 425,000
OnNteyEsy)| 2
120,000,000 120,000
Olol et HE 2 55,000,0002! 55,000
CAHEREAH 1= 53,000 53,000
201 2B | 53,000 53,000
01 AlRZtelH] 53,000 53,000
OSAIHEESHH (UPIS) DB Sdtat RX2e
19,000,000 19,000
OZAIHZFEHH(UPIS) AW SXI22
15,000,000 15,000
O=E0I2HLSEZHZ(KLIP) DB KAz
19,000,000 19,000
CAITHA 6,404,349 9,744,645 3,340,296
7 75,000
[ 43,500
= 6,285,849
XEISEE TADIEIES 4,765,172 7,888,830 3,123,658
7 75,000
[ 37,500
= 4,652,672
NS EESS 21,980 21,660 320
201 2B 12,380 12,060 320
01 AlRZtelH] 6,380 6,060 320
OZAHI(SAITHAE SRR
9,000 %4Q1x80A! 2,880
OSAITHAAL 29 TIIR ZAlAg
100,0002%701%53] 3,500
02 2229 6,000 6,000 0
OSAIB (4MA)RX RMZU2
500,000 122 6,000
202 01 9,600 9,600
IENEE] 9,600 9,600
OSAI T AP 454
200,0002+401x 122 9,600
CAIRI =S A 188,250 178,250 10,000
201 2B 70,000 70,000 0
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A KSLA
S TAITHA
= NSIss SADIBEE (Ct

SA - B O9(3) - NIRAR - BaS Ol &b e e
R s==3) 70,000 70,000 0
OXeia TIYEHE SXIZ2I(CCTV, &I|) 70,000
0FIINBE L CCTVEIME
5,000,000 * 122 60,000
0FJ| YL SALH RS
10,000,00021 4! 10,000
301 gErE XD 8,250 8,250
TERNSERNES 8,250 8,250
OZAIXICIZY SAFH| L ZAHH X
& 37,500&%5501x43] 8,250
401 AIEEIZE0HY] 110,000 100,000 10,000
01 AIZH] 110,000 100,000 10,000
OZAIRY AES SXI2IA
50,000,000 50,000
OZAIZSE 24191 A 60,000,0002! 60,000
CAAEAE SIS 686,158 756,599 70,441
307 QIZHIA 22,000 22,000
%6 222 22,000 22,000
OXEHEE I 2 22,000,000 22,000
401 AIEEIZE0HY 664,158 734,599 70,441
01 AIZH] 660,000 730,000 70,000
OZAIHEER OHNSHS I T AALRS
100,000,000 100,000
OZAIXIS AKX S28 ZHD| AL
80,000,000 80,000
OXEHEZ KX 22| AR (L=1.74kn)
20,000,000 20,000
OZAHEEZ S5C2 OHMS YA}
s 120,000,000 120,000
OZAIXIS AIDHK| BHE S OHMAIE B2}
E 100,000,000 100,000
OZAIXIY C2=8 OIMET SHATH|ALY
150,000,000 150,000
OF X7 ALK B4
50,000,000 50,000
One QHEEA L SXI /A
40,000,000 40,000
03 Al&=20HY] 4,158 4,599 N4
OSAHEAIESKIEA AILLHY|
660,000, 0002+0.63% 4,158
0D A A A A E ] 220,000 522,952 ~302,952
401 AIEEIZE0HY] 220,000 522,952 ~302,952
01 AIZH] 220,000 520,000 300,000
OZAIHEAIE 0I22X 24
200,000,000 200,000
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SN
X XH -
(=
eel:

HEE

2A -3 - A(3) - MRAKY - BES Oil &l Ol AFoH HlwsZ
OZHEANE Z2H(BE) ES
20,000,0002 20,000
SAIZSESIALY 2,448,784 3,479,369 21,030,585
401 AIEHIZ 208 2,448,784 3,479,369 21,030,585
01 Al&H| 2,440,000 3,470,000 21,030,000
O4&td =HF 32 =8 JI=23HIAY
400,000,000 400,000
OLHEE ADADIE S2F:XE ZEAMY
460,000,000 460,000
OXlel1= Dt2g2 &)1 & 2X Fh|
70,000,0002 70,000
OXEHAA EE HUISA
30,000,0002 30,000
OMZHATIX SEFXE SXISA
360,000,000 360,000
OAE MEDIE SEFIE A
500,000,000 500,000
OAIE 22I0I2 AYTZ INESA
270,000,000 270,000
OUIITAIHEIEZ (AZ21-24546) SFY|
SAl 150,000,000 150,000
Otls sHils SE=XE EXISA
200,000,000 200,000
03 AIE=2CHYI 8,784 9,369 A585
OSAIEESAIE Al 200
2,440,000,0002+0.36% 8,784
ANEH SATHAY =0I=RIALS 60,000 316,000 £256,000
401 AlIEHIZ 208 60,000 316,000 £256,000
01 Al&H| 60,000 316,000 £256,000
ONMEDIE XYT=Z HHISA
60,000,0002 60,000
AIOHH CAITHA =0I=SRIAL 230,000 295,000 265,000
401 AIEHIZ 20U 230,000 295,000 265,000
01 Al&H| 230,000 295,000 265,000
O_ICHHAATHX] o+ HHISAL
30,000,0002 30,000
Ol TAHECZ(E22-155H) HEES
Al 200,000,000 200,000
S4AXT KA THHKIEOHSRIT EHIALS 150,000 0 150,000
s 75,000
< 37,500
= 37,500
401 AIEHIZL 20U 150,000 0 150,000
s 75,000
< 37,500
= 37,500
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A XD
HE: TAITHA

=Rl XI%N%@ AR (G M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
01 AIZH] 50,000 0 150,000
OSAXIT KSTHHABIMNEKI T HHIA
150,000, 0002 150,000
= 75,000
= 37,500
2 37,500
OF AUNY ANURE EXIAMD(DEAR) 560,000 0 560,000
401 AEBIZ=0HE 560,000 0 560,000
01 AIZH] 560,000 0 560,000
ONZAN o SIMDIZ S (D)
560,000,000 560,000
&F FWA 78 SES0AEY 100,000 0 100,000
401 AEBIZ=0HE 100,000 0 100,000
01 AIZH] 100,000 0 100,000
OMHE SHIAr 8 SRATHIAIY 100,000
0ARDEA AT} B
20,000,0002! 20,000
OMoigerE ot 4 20,000,0002! 20,000
0AIAEHIES 60,000,0002! 60,000
NENE g7 OIS NEAS 100,000 0 100,000
401 AEBIZ=0HE 100,000 0 100,000
01 AIZH] 100,000 0 100,000
ONFAT 27 2N
100,000, 0002 100,000
CA AR ARY 1,639,177 1,855,815 £216,638
= 6,000
2 1,633,177
CAME R SHAED] 1,520,000 1,500,000 20,000
= 6,000
2 1,514,000
401 AFEBIZ=0HE 20,000 0 20,000
= 6,000
2 14,000
01 AIZH] 20,000 0 20,000
O&B2El HAHTE L 2UER A
20,000,0002! 20,000
= 6,000
2 14,000
403 XHHST=01E 1,500,000 1,500,000
02 2 HSEER A 1,500,000 1,500,000
OSAMRLAY ATIES BZXRZ(2
0 1,500,000, 0002 1,500,000
AEZ CAMEARY 19,000 0 19,000
401 A/EBIZ=0HE 19,000 0 19,000




SN

AlSers

M CAITHAY
SR TAIT MRS AIS (CH]: X 21)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
01 AlZHI 19,000 0 19,000
OAET TAITHAMAIY SA5IHE ST 29
19,000,000 19,000
MHT CATHARAH 2l - 29 100,177 155,815 55,638
101 o124] 74,697 129,615 A54,918
M IIH2Z2NEES 74,697 129,615 A54,918
OAEZ TAITHMRILEH 29 o1i] 74,697
plE== 2,211,000 %201x 128 53,004
07| Etgt 2400002 %201% 122 5,760
(of=<p=E= 2,211,0002% 12125 *60% 2,654
0=02l3 64, 117,000 %4 . 5% 2,886
022 64,117,0002%3. 545% 2,273
0Z)|QYZE 2,273,0002%12.95% 295
0UEEE 64,117,000 *1.75% 1,123
M HEES 64,117,000 %1% 642
051x2 3,000,0002*20! 6,000
201 LB 25,480 26,200 AT20
01 At22t2IH] 14,680 15,400 AT20
OZAITHAMIE] 2 14,680
0SADI & FH2D| AR
120, 000R*20H A% 12 2,880
OAIR2E 72 2 =22 HIEY|
400,000 122 4,800
O0SAITHAY Z=0IQ|R5| EAlSE U Xj22
g 70,0002 %1021%103] 7,000
02 2229 10,800 10,800 0
OZAITHAXISE(3IHA) HMABL2
300,00024*30H A% 12 10,800
SEINL ALY 23,666,224 13,553,336 10,112,888
2 9,339,000
o= 1,862,500
2 12,464,724
SENLAS 767,224 719,33% 47,888
SEHLAR2Y 467,224 719,33 A252, 112
201 L2 148,680 112,360 36,320
01 Al22t2IH] 27,480 28,360 2880
SEFHAXAHME 22| 7,800
0=ARDI & FH2D| ARt
250,000 122 3,000
OAIR2E 72 2 =22 HIEY
400,000 122 4,800
OUBHs A ZINL AL PPT HIZ
500,000 4 A 2,000
OSA|(sENLAREA)
9,000 *4Q1x80A! 2,880
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SN

AlSers

HEl: SEIILALS
CH9l: SEINAY

HEE

2A -3 - A(3) - MRAKY - BES Off ol Ol bl Hns2
ODI2 AL A9 HALY
100, 000 %421%23| 800
ORXB2IEIF Alo| EadpEt
100, 000&%501%43] 2,000
Oz X+ E2=F ME 7,000,000 7,000
OSHEXSNY M2l SAUE 1S
2 H=H| 5,000,000 5,000
02 2229 121,200 84,000 37,200
OUBHSANZEINL ALY EZAIGE 2123
1,000,000 122 12,000
OsZ=AK2MH 202
100,00024% 12 1,200
OsZE=EHIE(ASS2Y) M3
9,000,000 * 122 108,000
202 OiH| 9,600 14,600 A5,000
ENEE] 9,600 9,600 0
SENL A4
200,000 %401x 122 9,600
203 LRI 1,000 1,000
03 AIBFZIAREZIH| 1,000 1,000
SENLAIY AIHAREZ
1,000,000 1,000
308 RFXISHHISOIA 11,000 11,000
13 22 SOICHEHE B A E I ETALSHI 11,000 11,000
OsX+ &0 2,200,00024%53] 11,000
401 Al&BIL 2 0HY] 271,944 202,376 120,432
01 AIZHI 270,000 290,000 220,000
EBX T SAOIENLAIAE SXIR2IA
e 100,000,000 100,000
OMNSHESSME T8 FIUE EAAIY
120,000,000 120,000
ORLEH 012 Z2& HAAY
10,000,0002 %574 A 50,000
03 Al& 204 1,944 2,376 Pav/ic )
OAlZ= bl 270,000, 0002/%0.72% 1,944
402 DI2HAH=20(E 25,000 25,000
01 QIZXHE AR E R (RHATHL) 25,000 25,000
OAAR X2 (DF2LHED])
5,000,0002*5IH0}+S 25,000
OHEX? SADHE AR 300,000 300,000
401 Al&BIL20HY] 300,000 300,000
01 AIZHI 300,000 300,000
OHEXIT SAIDHLAN
300,000,000 300,000
RN ESI ENEY 22,899,000 12,834,000 10,065,000
2 9,339,000




SN

AlSers

HE: SENLALY
Cr2l: UBHSAOIE NS ALY (EER:E))
SA - B O9(3) - NIRAR - BaS Ol &b e e
< 1,862,500
2 11,697,500
NZASBABAI (S EE ) 400,000 400,000 0
2 280,000
[ 36,000
2 84,000
101 Q124 117,029 111,368 5,661
2 81,917
[ 10,532
2 24,580
ISIFIVIEEPU=T=EN 117,029 111,368 5,661
OsESUME 2% 0124H/(32!) 117,029
02z 2,392,66621%301x 128 86,136
2 60,295
[ 7,752
2 18,089
Y=Y 2,392, 6662%301%25| x60% 8,614
2 6,030
[ 775
2 1,809
0FAUZ A 140,00094%301x 122 5,040
2 3,528
[ 453
2 1,059
0DIErEt 150,000&4%3Q1% 122 5,400
2 3,780
[ 486
2 1,134
(E=tellel=t 105, 189, 00024 . 5% 4,734
2 3,314
[ 426
2 994
0AYLEZ 105, 189,0002%3. 545% 3,729
2 2,610
[ 336
2 783
0AIRUTER 3,729,0002%12.95% 483
2 335
[ 43
2 105
= 105,189, 0002%1.75% 1,841
2 1,289
[ 166
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2A:
PSESR
o

o
chgl:

AlSers
SENLAE

2SS AU ENEALS

HEE

2N -3 . A(SH) - MRAR - BYS Oil &bl Oil AFou HwsS2
= 386
0MHEE = 105, 189, 0002 * 1% 1,052
s 736
= 9%
= 221
201 L2 3| 127,971 113,632 14,339
s 89,583
o= 11,518
= 26,870
03 &A= ZH| 127,971 113,632 14,339
OXgdet2st AtE 29 127,971
ooscld & st |4
10,000,000 %43 40,000
as 28,000
o= 3,600
= 8,400
0Zslls2d S0l |4
10,000,000 %43 40,000
as 28,000
o= 3,600
= 8,400
0L Brs A ENLAIY 2HA RIS
6,992, 750243 27,971
s 19,583
o= 2,518
= 5,870
OUiE0IS MEIA &Y
625,000 %23 x| A-*8& 20,000
as 14,000
o= 1,800
= 4,200
301 LetEE= 155,000 150,000 5,000
s 108,500
== 13,950
= 32,550
11 ALHIXIRAZ 155,000 150,000 5,000
Obtzeld & =0 et s 223 2H 155,000
0HASE T2 29
5,000,000&2& 10,000
s 7,000
= 900
= 2,100
OASKF 243 T2 )H 2
5,000,000 &*293| 145,000
s 101,500
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2A:

AlSers

LT STENE
SHelr B A HEINE ALY (cHol: M9l
SA - B O9(3) - NIRAR - BaS Ol &b e e
== 13,050
= 30,450
ANEH sESMTELSIAYE(sEEHY) 8,043,000 1,377,000 6,666,000
= 3,985,000
== 512,000
= 3,546,000
403 XXISHMSKHZ0(& 8,043,000 1,377,000 6,666,000
= 3,985,000
== 512,000
= 3,546,000
2 SO HSOICREI A= RS AT 8,043,000 1,377,000 5.666.000
OAEH SESAXNELAIS
5,693,000,000& 5,693,000
= 3,985,000
== 512,000
= 1,196,000
OAIE FOIME=SINIE 218
2,000,000,000& 2,000,000
OAIEE AAARA 21
350,000,000& 350,000
SO J| ZMEHE T LA (SEEY) 3,437,000 1,437,000 2.000,000
= 1,005,000
== 130,000
= 2,302,000
403 XXISHMSKHZ0(& 3,437,000 1,437,000 2,000,000
= 1,005,000
== 130,000
= 2,302,000
02 2O HSICREI A=A E AN 3,437,000 1,437,000 2,000,000
OHYH JI=MEHE LA
1,437,000,000& 1,437,000
= 1,005,000
== 130,000
= 302,000
Oty =gy e
2,000,000,000& 2,000,000
ASH I ZMEHEZHAML(2HH) (sEEL) 294,000 366,000 AT72,000
= 206,000
== 26,000
= 62,000
403 XXISHMSXHZ0(& 294,000 366,000 A72.000
= 206,000
== 26,000
= 62,000
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SN

AlSers

H: SEHLAY
CHel: LBISAUEINEAIS (CHel: X 2)
S - ZE - SI(E) - KISA - BES Ofl st e limE==]
02 S ZSOIHE A== A 294,000 366,000 72,000
OANSH JIZMEHEEA A (PS4
294,000, 0002 294,000
z 206,000
< 26,000
z 62,000
SEZEHIAY 10,725,000 3,300,000 7,425,000
z 3,863,000
< 1,158,500
z 5,703,500
403 XSS THE01A 10,725,000 3,300,000 7,425,000
z 3,863,000
3 1,158,500
z 5,703,500
02 B 2SO A== A 10,725,000 3,300,000 7,425,000
OUSH RYX7 SEZAFHIA
7,725,000,00024 7,725,000
z 3,863,000
3 1,158,500
z 2,703,500
OsEZHEHIAY BUSX 24
3,000,000,000! 3,000,000
ES e =PI 864,104 460,884 403,220
= 11,800
z 75,000
3 53,320
z 723,984
SE FAZNA 650,004 386,084 263,920
z 75,000
3 49,500
z 525,504
B 48,000 34,680 13,320
201 Zere g 13,400 13,080 320
01 AlR22lH] 12,080 11,760 320
OFAYL 2131 YAy 800
oFsay 10000024+ 200
0Z2fz|alAIE 50,0002*5Z 250
EEEIEES 70,0002%55 350
OA=LIRS| BA2Y
100,00024%1921%23] 3,800
OBZA=I} D12 N24Y
100,0002*821%35] 2,400
OBZAEMOI9IAS A4
100, 0002/%401%33] 1,200
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S KL
HE: FHOHY U FIHEANA
Eelr 5= FHE->ZIN (S &)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
OZSTE | EMAF NG| FALY
100,0002%501x23] 1,000
OSAHI(FHL2FR)
9,000 %40 1x80A! 2,880
02 22| 1,320 1,320 0
OS2NH IEiI2Y &3
60,00024% 122 720
OAMZZHS(MHO| ) AI1e2
50,0002% 128 600
202 01t 9,600 9,600
01 2LH0I| 9,600 9,600
OO (F=e4iR43H)
200,000 %401x 122 9,600
401 A& LSO 25,000 12,000 13,000
01 AI&H] 25,000 12,000 13,000
OS2NH I52Y S| 25,000
0ZHID| Aled 6,000,0002+23 12,000
028 &8F A 13,000,00024% 13| 13,000
TIFECET] DIBFAIE RIRIALY 120,864 120,864
401 Al&HI LSO 120,864 120,864
01 AIZH] 120,000 120,000
OFRIZESCHT| J|BHAIE KIRAS
30,000,000 *47H A 120,000
03 AL THH] 864 864 0
OFIZFEUCHT| J|BIAIL KIZAFY 2O
120,000, 00020, 72% 864
BIZAHIAN 30,600 45,000 A14,400
o 13,500
= 17,100
402 RIZFXHE0(H 30,600 45,000 A14,400
o 13,500
= 17,100
02 DIZERFEAIIE X (01 M & 30,600 45,000 A14,400
ORIZHHIAI (FAEE) 30,600
0LBHNIE BIE HHI(EA
1,200,000+ 165 19,200
o 9,000
= 10,200
0ZY0IEXIE BIE HYI(ENH)
600,0002* 195 11,400
< 4,500
= 6,900
BIZIHHIAF (XISAIY) 108,000 0 108,000
z 75,000
= 33,000
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SA: XS2E
HE: (0K U ENBAINM
=Pl SE T RN (CH: M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
401 AIZHIZL R0 108,000 0 108,000
s 75,000
= 33,000
01 AlZ2H| 108,000 0 108,000
OBIY S| AIS 7.200,00024%15= 108,000
s 75,000
= 33,000
A 2= A= JHIAL 50,540 50,540
401 AIZHIZL R0 50,540 50,540
01 AlZ2H| 50,000 50,000
O =22 A= JUIAIE
5,000,000&*10= 50,000
03 A€ 0HH 540 540 0
OJNZ =222 2= JUIAE 20|
50,000,000 *1.08% 540
SSFE NZAIE (REHALE) 100,000 100,000
402 2IZHX=01 A 100,000 100,000
01 RIZEHEAtE 2R (RHHITHR) 100,000 100,000
Otz SSFE 22 XTA
40,000, 000 *5 =X +50% 100,000
A2 ZEFE 2| XA (0IETHR) 20,000 5,000 15,000
< 6,000
= 14,000
402 2IZHX=01 A 20,000 5,000 15,000
< 6,000
= 14,000
N EEES GEE)) 20,000 5,000 15,000
0472 BSFE B2INRAY
40,000, 0002 *1IH 2*50% 20,000
= 6,000
= 14,000
EESESlI DI = 70,000 70,000
401 AIZHIZL R0 70,000 70,000
01 AlZ2H| 70,000 70,000
OPIEFEYIHE +2 89
70,000,000& 70,000
CPTEDIIE =8 oty =52 Zd A 100,000 0 100,000
< 30,000
= 70,000
401 AIZHIZL R0 100,000 0 100,000
< 30,000
= 70,000
01 AlZ2H| 100,000 0 100,000
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A KSLA
S o & =S

cHelr ==X (CHol: m2)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
OFNFHAS OIAHI X1
400, 00021 %274 2 800
= 400
=3 400
NASNE =252 NSNS (EHENA) 10,500 0 10,500
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